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Cuadro 15 (continuación 3)/Table 15 (continued 3)
Nicaragua: tablas abreviadas de mortalidada

Nicaragua: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.099 0.093  100 000  9 282  93 615 0.889 b 5 585 895 55.9
1 4 0.013 0.050  90 718  4 511  350 823 0.964 c 5 492 280 60.5
5 5 0.003 0.013  86 207  1 110  428 262 0.989 5 141 457 59.6

10 5 0.002 0.010  85 097   830  423 412 0.985 4 713 196 55.4
15 5 0.004 0.021  84 267  1 786  416 872 0.976 4 289 784 50.9
20 5 0.005 0.027  82 482  2 228  406 839 0.974 3 872 912 47.0
25 5 0.005 0.025  80 254  1 997  396 277 0.975 3 466 073 43.2
30 5 0.005 0.025  78 257  1 993  386 300 0.973 3 069 796 39.2
35 5 0.006 0.029  76 263  2 190  375 843 0.968 2 683 496 35.2
40 5 0.007 0.035  74 074  2 560  363 968 0.961 2 307 653 31.2
45 5 0.009 0.044  71 513  3 118  349 772 0.949 1 943 686 27.2
50 5 0.012 0.058  68 395  3 984  332 018 0.931 1 593 914 23.3
55 5 0.017 0.081  64 411  5 199  309 059 0.901 1 261 897 19.6
60 5 0.025 0.119  59 212  7 021  278 510 0.857  952 838 16.1
65 5 0.037 0.171  52 192  8 930  238 633 0.787  674 328 12.9
70 5 0.060 0.263  43 261  11 360  187 906 0.687  435 695 10.1
75 5 0.094 0.382  31 901  12 182  129 050 0.567  247 788 7.8
80 5 0.142 0.517  19 719  10 195  73 107 0.441  118 739 6.0
85 5 0.199 0.645  9 524  6 141  32 268 0.327  45 632 4.8
90 5 0.264 0.751  3 383  2 542  10 561 0.233  13 364 4.0
95 5 0.334 0.831   841   699  2 458 0.123 d  2 804 3.3

100 ω 0.411 1.000   142   142   346   346 2.4
Mujeres/Females

0 1 0.081 0.077  100 000  7 675  94 621 0.906 b 6 128 183 61.3
1 4 0.011 0.044  92 325  4 077  358 464 0.969 c 6 033 562 65.4
5 5 0.002 0.010  88 248   883  439 034 0.991 5 675 098 64.3

10 5 0.001 0.007  87 365   640  435 227 0.991 5 236 064 59.9
15 5 0.002 0.011  86 725   992  431 147 0.987 4 800 837 55.4
20 5 0.003 0.016  85 733  1 330  425 342 0.984 4 369 690 51.0
25 5 0.003 0.016  84 403  1 388  418 546 0.983 3 944 349 46.7
30 5 0.004 0.018  83 015  1 494  411 339 0.981 3 525 803 42.5
35 5 0.004 0.021  81 521  1 705  403 340 0.977 3 114 463 38.2
40 5 0.005 0.026  79 815  2 053  393 945 0.971 2 711 123 34.0
45 5 0.007 0.033  77 763  2 562  382 410 0.961 2 317 178 29.8
50 5 0.009 0.045  75 201  3 385  367 543 0.946 1 934 768 25.7
55 5 0.013 0.063  71 816  4 489  347 859 0.923 1 567 225 21.8
60 5 0.019 0.092  67 327  6 181  321 185 0.887 1 219 366 18.1
65 5 0.029 0.135  61 147  8 283  285 025 0.828  898 181 14.7
70 5 0.048 0.213  52 863  11 278  236 122 0.745  613 156 11.6
75 5 0.073 0.308  41 586  12 822  175 874 0.638  377 033 9.1
80 5 0.113 0.439  28 764  12 626  112 254 0.515  201 160 7.0
85 5 0.162 0.567  16 138  9 156  57 799 0.398  88 906 5.5
90 5 0.220 0.683  6 982  4 771  22 981 0.294  31 107 4.5
95 5 0.284 0.777  2 211  1 718  6 758 0.168 d  8 125 3.7

100 ω 0.360 1.000   493   493  1 367  1 367 2.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


